| Efficiency vs Dxy |
0.1

B 0,00 b
< A

R B e
o | O S S S

Q0.07 i i o
1 A e
005t My
0.04 ' ' jaltng |
0.03

dxy

effi

0.02

0.0

J--\-'O_ : : : : '.il: |: ||:||:||||

Ratio

1»—--:-5- | Illllé ceerahd S - IHI -----

0955 20-15-10 5 0 5 10 15 20 25

TP dxy (cm)

| Efficiency vs Dz | ——D paretofront5_PU

—=— DQM_TT original
— D§M_ﬂ_ aretofront4_PU

—— D paretofront6_PU
—— D paretofront8”PU
N 0.2 = —
© . . . . .
[7)] r . . . . .
>0.18 P P P P

a‘ r : : : : :
T S

o L : : : : :
E0.214 oo Frrreneeee Frovremeees AR A
o : : : : :
() AP NS SN TS S——
9% N U W S
0.08 ' '

0.06
0.04

o

o

N
III|I
i :
e
——_

&

Ratio

=
;
4
>
S
*
>
2
M
N
>
-
2

10 20 30
TP dz (cm)

30 20 -10



	Contents
	Page 1


